PROJECT: Manele Road Resurfacing, Lanai City Towards Manele Bay

PROJECT NO.: 440B-01-04M Net Length of Project: 7.21 Miles

ISLAND: Lanai

DISTRICT: Lanai

DATE ADVERTISED: Internet Posting May 12, 2004 BIDS OPENED: June 3, 2004

COMPLETION TIME: Fifty (50) Working Days

GOODFELLOW BROS., INC.	CASTLE & COOKE RESORTS,
l l	LLC

GRACE PACIFIC, INC.

STATE OF HAWAII **DEPARTMENT OF** TRANSPORTATION"

HIGHWAYS DIVISION

<u> </u>		T									
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
203.0100	Roadway Excavation	950	C.Y.	\$67.00	\$63,650.00	\$215.00	\$204,250.00	\$79.00	\$75,050.00	\$300.00	\$285,000.00
206.2030	Structure Excavation For Drainage System	45	C.Y.	\$150.00	\$6,750.00	\$595.00	\$26,775.00	\$720.00	\$32,400.00	\$300.00	\$13,500.00
209.0000	Water Pollution and Erosion Control	F.A.	F.A.	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00
312.0100	Plant Mix Glassphalt Concrete Base Course	1450	Ton	\$151.00	\$218,950.00	\$308.00	\$446,600.00	\$219.00	\$317,550.00	\$300.00	\$435,000.00
401.0400	Asphalt Concrete Pavement, Mix No. IV	4250	Ton	\$151.00	\$641,750.00	\$230.00	\$977,500.00	\$245.00	\$1,041,250.00	\$300.00	\$1,275,000.00
503.0010	Class A Concrete For Box Culvert	25	C.Y.	\$1,600.00	\$40,000.00	\$1,800.00	\$45,000.00	\$6,620.00	\$165,500.00	\$3,000.00	\$75,000.00
603.0010	Bed Course Material For Culverts	8	C.Y.	\$615.00	\$4,920.00	\$250.00	\$2,000.00	\$176.00	\$1,408.00	\$700.00	\$5,600.00
603.1012	18-Inch Corrugated Metal Pipe, Sheet Thickness, 0.079 Inch	22	L.F.	\$650.00	\$14,300.00	\$63.00	\$1,386.00	\$395.00	\$8,690.00	\$900.00	\$19,800.00
603.1013	24-Inch Corrugated Metal Pipe, Sheet Thickness, 0.079 Inch	33	L.F.	\$800.00	\$26,400.00	\$85.00	\$2,805.00	\$521.00	\$17,193.00	\$1,000.00	\$33,000.00
603.1014	48-Inch Corrugated Metal Pipe, Sheet Thickness, 0.079 Inch	11	L.F.	\$1,050.00	\$11,550.00	\$120.00	\$1,320.00	\$1,838.00	\$20,218.00	\$1,300.00	\$14,300.00
603.1902	Cleaning of Existing Culvert	F.A.	F.A.	F.A.	\$75,000.00	F.A.	\$75,000.00	F.A.	\$75,000.00	F.A.	\$75,000.00
604.5010	Type 61614P GDI Inlet 4.00 Ft. to 4.99 Ft.	4	EACH	\$24,000.00	\$96,000.00	\$17,000.00	\$68,000.00	\$24,525.00	\$98,100.00	\$12,000.00	\$48,000.00
604.5020	Type 61616P GDI Inlet, 4.00 Ft. to 4.99 Ft.	2	EACH	\$50,000.00	\$100,000.00	\$18,400.00	\$36,800.00	\$26,975.00	\$53,950.00	\$12,000.00	\$24,000.00
604.5030	Modified Type 61316P GDI Inlet, 5.00 Ft. to 5.99 Ft.	1	EACH	\$28,000.00	\$28,000.00	\$20,000.00	\$20,000.00	\$30,797.00	\$30,797.00	\$9,500.00	\$9,500.00
604.5040	Type 1211214P DGI inlet, 4.00 Ft. to 4.00 Ft.	1	EACH	\$24,000.00	\$24,000.00	\$17,000.00	\$17,000.00	\$27,125.00	\$27,125.00	\$10,000.00	\$10,000.00
604.6200	Type "1" Inlet Structure, 4.00Ft. To 4.99 Ft.	1	EACH	\$30,000.00	\$30,000.00	\$12,000.00	\$12,000.00	\$41,162.00	\$41,162.00	\$15,000.00	\$15,000.00
604.7200	Type "1" Concrete Headwall, 4.00 Ft. to 4.99 Ft.	1	EACH	\$30,000.00	\$30,000.00	\$12,000.00	\$12,000.00	\$16,682.00	\$16,682.00	\$15,000.00	\$15,000.00
					<u>,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,</u>	<u></u>		i		Sheet No.	1 of 4 Sheets

Sheet No. 1 of 4 Sheets



PROJECT: Manele Road Resurfacing, Lanai City Towards Manele Bay

PROJECT NO.: 440B-01-04M

Net Length of Project: 7.21 Miles

ISLAND: Lanai

DISTRICT: Lanai

DATE ADVERTISED: Internet Posting May 12, 2004 BIDS OPENED: June 3, 2004

COMPLETION TIME: Fifty (50) Working Days

GOODFELLOW BROS., INC.	CASTLE & C

COOKE RESORTS, LLC

GRACE PACIFIC, INC.

STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION

····											
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
606.0300	Terminal Section, Type A	24	EACH	\$19,000.00	\$456,000.00	\$15,565.00	\$373,560.00	\$8,140.00	\$195,360.00	\$6,500.00	\$156,000.00
606.0500	Terminal Section, Type FLEAT 350	17	EACH	\$10,000.00	\$170,000.00	\$8,250.00	\$140,250.00	\$5,720.00	\$97,240.00	\$6,500.00	\$110,500.00
606.0600	Reset Existing Guardrail Post	660	EACH	\$24.00	\$15,840.00	\$20.00	\$13,200.00	\$83.00	\$54,780.00	\$30.00	\$19,800.00
606.0700	Guardrail Type 3 Strong Post W-Beam	1140	L.F.	\$55.00	\$62,700.00	\$27,00	\$30,780.00	\$63.00	\$71,820.00	\$30.00	\$34,200.00
611.1000	Hand-Laid Riprap	3	C.Y.	\$2,700.00	\$8,100.00	\$864.00	\$2,592.00	\$2,321.00	\$6,963.00	\$1,200.00	\$3,600.00
621.0200	Panel For Destination Sign	20	Sq. Ft.	\$89.00	\$1,780.00	\$45.00	\$900.00	\$110.00	\$2,200.00	\$100.00	\$2,000.00
621.1400	2.5 Lbs/Ft. Flanged Channel Post	3	EACH	\$340.00	\$1,020.00	\$83.00	\$249.00	\$385.00	\$1,155.00	\$250.00	\$750.00
621.4000	Reflector Marker (Rm-3) Yellow With Steel Post	50	EACH	\$140.00	\$7,000,00	\$121.00	\$6,050.00	\$110.00	\$5,500.00	\$90.00	\$4,500.00
621.4100	Reflector Marker (Rm-3) White With Flexible Post	12	EACH	\$140.00	\$1,680.00	\$121.00	\$1,452.00	\$138.00	\$1,656.00	\$100.00	\$1,200.00
621.4300	Reflector Marker (Rm-5) on Existing Guardrail	350	EACH	\$30.00	\$10,500.00	\$28.00	\$9,800.00	\$17.00	\$5,950.00	\$50.00	\$17,500.00
621.4800	Type II Object Marker With Flexible Post plastic Extrusion)	25	EACH	\$95.00	\$2,375.00	\$83.00	\$2,075.00	\$138.00	\$3,450.00	\$75.00	\$1,875.00
621.5000	Regulatory and Warning Sign (10 Sq. Ft. or Less)	12	EACH	\$130.00	\$1,560.00	\$121.00	\$1,452.00	\$220.00	\$2,640.00	\$200.00	\$2,400.00
621.5100	Regulatory and Warning Sign (10 Sq. Ft. or Less) With Post	49	EACH	\$350.00	\$17,150.00	\$310.00	\$15,190.00	\$420.00	\$20,580.00	\$400.00	₩ .00.008,e1€
621.6110	Type A Route Marker Assembly With Post	8	EACH	\$300.00	\$2,400.00	\$242.00	\$1,936,00	\$420.00	\$3,360.00	\$350.00	\$2,800.00
621.6120	Type B Route Marker Assembly With Post	1	EACH	\$500.00	\$500.00	\$396,00	\$396.00	\$1,050.00	\$1,050.00	\$500.00	\$500.00
				***************************************							2 of 4 Sheets

PROJECT: Manele Road Resurfacing, Lanai City Towards Manele Bay

PROJECT NO.: 440B-01-04M

Net Length of Project: 7.21 Miles

ISLAND: Lanai

DISTRICT: Lanai

DATE ADVERTISED: Internet Posting May 12, 2004 BIDS OPENED: June 3, 2004

COMPLETION TIME: Fifty (50) Working Days

GOODFELLOW BROS., INC.	CASTLE & COOKE RESORTS,	GRACE P
,	TTC .	ļ

PACIFIC, INC.

STATE OF HAWAII DEPARTMENT OF TRANSPORTATION' HIGHWAYS DIVISION

		Т т	······································				· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·			
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
621.7100	Construction Sign with Two Posts	6	EACH	\$700.00	\$4,200.00	\$550.00	\$3,300.00	\$830.00	\$4,980.00	\$700.00	\$4,200.00
621.7610	Mile Post Marker And Supplemental Route Number Plate (Bi-Directional) With Post	9	EACH	\$300.00	\$2,700.00	\$330.00	\$2,970.00	\$358.00	\$3,222.00	\$350.00	\$3,150.00
629.1011	4-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$35,000.00	L,S.	\$26,818.00	L.S.	\$28,820,00	L.S.	\$27,500.00
629.1012	4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$1,000.00	L.S.	\$500.00	L.S.	\$860.00	L.S.	\$625.00
629.1013	12-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	L.S.	L,S.	L.S.	\$1,000.00	L.S.	\$600.00	L.S.	\$770.00	L.S.	\$250.00
629.1015	Double 4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$25,000.00	L.S.	\$36,000.00	L.S.	\$20,460.00	L.S.	\$26,250.00
629.2031	Type "C" Pavement Markers	L.S.	L.S.	L.S.	\$5,000.00	L.S.	\$7,700.00	L.S.	\$4,240.00	L.S.	\$3,850.00
629.2041	Type "D" Pavement Marker	L.S.	L.S.	L.S.	\$5,000.00	L.S.	\$7,700.00	L.S.	\$4,180.00	L.S.	\$3,850.00
629.2070	Type "H" Pavement Marker	L.S.	L.S.	L.S.	\$160.00	L.S.	\$150.00	L.S.	\$140.00	L.S.	\$105.00
629.2080	Type "J" Pavement Marker	L.S.	L.S.	L.S.	\$500.00	L.S.	\$560.00	L.S.	\$440.00	L.S.	\$365.00
636.6000	Maintenance of Field Office and Project Site Laboratory	F.A.	` F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\ \www.nr
645.2000	Additional Police Officers and/or Additional Traffic Control Devices	F.A.	F.A.	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00
652.0100	Cold Plane Existing Pavement	L.S.	L.S.	L.S.	\$50,000.00	L.S.	\$20,000.00	L.S.	\$55,000.00	L.S.	\$125,000.00
660.0000	Reinforced Slope	L.S.	L.S.	L.S.	\$100,000.00	L.S.	\$27,000.00	L.S.	\$166,133.00	L.S.	\$75,000.00
						·•··		<u></u>	<u> </u>	Choot No.	3 of 4 Shoots

Sheet No. 3 of 4 Sheets

PROJECT: Manele Road Resurfacing, Lanai City Towards Manele Bay PROJECT NO.: 440B-01-04M Net Length of Project: 7.21 Miles ISLAND: Lanai DISTRICT: Lanai DATE ADVERTISED: Internet Posting May 12, 2004 BIDS OPENED: June 3, 2004 COMPLETION TIME: Fifty (50) Working Days		GOODFELLOW BROS., INC.		CASTLE & COOKE RESORTS,		GRACE PACIFIC, INC.		STATE OF HAWAII DEPARTMENT OF IRANSPORTATION HIGHWAYS DIVISION			
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
699.1000	Mobilization (Not to exceed 10% of the sum of all items excluding the bid price of this item, and force account items)	L.S.	L.S.	L.S.	\$148,000.00	L.S.	\$125,000.00	L.S.	\$175,900.00	L.S.	\$100,000.00
	SUM OF ALL ITEMS				1 \$2,607,435.00		\$2,866,616.00		\$3,020,924.00		* \$3,160,070.00
	A. Hawaii Products				\$0.00 (No)		\$0.00 (No)		\$0,00 (No)		\$0.00 (No)
	AMOUNT FOR COMPARISON OF BIDS				1 \$2,607,435.00		\$2,866,616.00		\$3,020,924.00		* \$3,160,070.00
	Bid Rejected Due to incorrect submitted Bid Bond										
	* Adjusted Estimate due to addendum adjusted quantities										
	Project Manager: Duane Taniguchi Date: June 2004										
		1					1			1 '	l '

Sheet No. 4 of 4 Sheets